## NONPARAMETRIC REGRESSION

Let  $(X_1, Y_1), ..., (X_n, Y_n)$  be independent of X with  $E \in [0, E] = \sigma^2$ . With E independent of X with  $E \in [0, E] = \sigma^2$ .

So we have 
$$m(x) = \mathbb{E}[Y|X=x]$$
.

binear regression assumes

$$m \in \{m: \mathbb{R} \rightarrow \mathbb{R}: m(x) = \beta_0 + \beta_1 x, \beta_0, \beta_1 \in \mathbb{R}\}$$

We will not assume any parametric form. Rather, we assume that m belongs to some class of functions of a certain semoothness.

We first consider a local-averaging estimator  

$$\overline{m}_{n}(x) = \frac{\sum_{i=1}^{n} Y_{i} \quad \mathbb{I}\left(x-h \in X_{i} \in x+h\right)}{\sum_{j=1}^{n} \mathbb{I}\left(x-h \in X_{j} \in x+h\right)}$$

At a point  $x \in [0,1]$ ,  $\overline{m}_n(x)$  is the average of  $Y_i$ . values for which the corresponding  $X_i$ : values are near x. It is the average of points within a moving window;



Note that we need the denominator  $\sum_{i=1}^{n} \mathbb{1}(x - h \in X_i \in x + h) = \pm \{X_i \in (x \pm h)\}$ to be positive for all x. Otherwise the estimator will be undefined:



A more general version of the local averaging estimator is the Neckaraya-Watson estimator

$$\hat{m}_{n}^{NW}(x) = \frac{\sum_{i=1}^{n} Y_{i} K\left(\frac{X_{i}-x}{h}\right)}{\sum_{j=1}^{n} K\left(\frac{X_{j}-x}{h}\right)},$$

when K is a Kernel function like

$$K(n) = I(|n| \le 1)$$

$$K(n) = (1 - n^{2}) I(|n| \le 1)$$

$$K(n) = \frac{1}{\sqrt{2\pi}} \exp(-n^{2}/2)$$

Note that we do not need JRK(m)dn = 1 (as with KDEs).

Men ajuard error of Nadaryn-Waten estimator  
We consider MSE 
$$\hat{m}_{n}^{NW}(x_{0})$$
,  $x_{0} \in [0,1]$ , when  $m \in Lipschitz(L)$  on  $[0,1]$ .  
(can shift/scile  $X_{1,...,} X_{n}$  to be on  $[0,1]$ , so no generality is lost)

Let 
$$MSE \stackrel{NW}{m}_{n}(x_{0}) = \stackrel{2}{b}_{n}^{2}(x_{0}) + \sigma_{n}^{2}(x_{0})$$
, with  
 $\widetilde{s_{j}}$  usual bias  $\widetilde{v}_{ar}$  in u  
 $b_{n}(x_{0}) = IE \stackrel{NW}{m}_{n}(x_{0}) - m(x_{0})$ ,  $\sigma_{n}^{2}(x_{0}) = V_{ar} \stackrel{NW}{m}_{n}(x_{0})$ . [2]

We will make the following essemptions on the kend and on 
$$X_{1,1-3}X_n$$
:  
(K1) Let  $K:[R \Rightarrow IR$  have support on  $[-1,1]$  and satisfy  $0 \in K(n) \in K_{max} < \infty$   $\forall n \in R$ .  
(D1) Let  $X_{1,...,}X_n \in [C_0,1]$  be deterministic such that for some  $N_0 \ge 0$   
 $0 < f_{min} \leq \frac{1}{nh} \sum_{i=1}^{n} K\left(\frac{X_i - Y}{h}\right) \leq f_{max} < \infty$  for all  $x \in [C_0,1]$   
for all  $n \ge N_0$ .  
Note: (K1) excludes the beloved Gaussian Kend, but it makes our proof simpler!  
Result: Under (K1) and (D1), if  $m \in Lipschitz(L)$  on  $[C_0,1]$ , we have  
 $ALSE = m_n^{NSW}(x_0) \leq h^2 \cdot L^2 + \frac{\sigma^2}{nh} \frac{K_{max}}{f_{min}} \quad \text{for all } x_0 \in [D,1]$ ,

provided nzno.



with

$$W_{n:}(x) = \frac{K\left(\frac{X_{i}-x}{h}\right)}{\sum_{j \in I}^{2} K\left(\frac{X_{j}-x}{h}\right)} .$$

Now we consider the variance:

$$\begin{split} & \overset{A}{\sigma_{n}}^{2}(x_{0}) = \operatorname{Vav}\left[ \begin{array}{c} \sum_{i=1}^{n} W_{ni}(x_{0}) Y_{i} \\ \\ = \sum_{i=1}^{n} W_{ni}^{2}(x_{0}) \sigma^{2} \\ \\ \leq \sum_{i=1}^{n} W_{ni}(x_{0}) \cdot W_{ni}(x_{0}) \cdot \sigma^{2} \quad \left( K(n) \ge 0 \forall n \right) \quad \boxed{3} \end{split}$$

$$\leq \sup_{\substack{k \neq j \leq n}} W_{nj}(x_0) \stackrel{n}{\underset{i=1}{\overset{r}{\leftarrow}}} W_{ni}(x_0) \sigma^2 \left( \begin{array}{c} \prod_{i=1}^{n} W_{ni}(x_0) = 1 \\ i \neq j \leq n \end{array} \right)$$

$$= \sup_{\substack{1 \leq j \leq n \\ 1 \leq j \leq n}} W_{nj}(x_0) \sigma^2$$

$$\leq \sup_{\substack{1 \leq j \leq n \\ 1 \leq j \leq n}} \left( \frac{K\left(\frac{X_j - x_0}{h}\right)}{\sum\limits_{i=1}^n K\left(\frac{X_i - x_0}{h}\right)} \sigma^2 \right)$$

$$\leq \frac{\frac{1}{nh} K_{mix}}{\frac{1}{nh} \sum_{i=1}^{n} K\left(\frac{x_i - x_0}{h}\right)} \sigma^2$$

 $\leq 1 \cdot \frac{K_{max}}{f_{min}} \cdot \tau^2$ 

Now the bias:

$$b_{n}(x_{0}) = \mathbb{E} \sum_{i=1}^{n} W_{ni}(x_{0}) Y_{i} - m(x_{0})$$

$$= \sum_{i=1}^{n} W_{ni}(x_{0}) m(x_{0}) - m(x_{0})$$

$$= \sum_{i=1}^{n} W_{ni}(x_{0}) \left[ m(x_{0}) - m(x_{0}) \right]. \qquad \left( \sum_{i=1}^{n} W_{ni}(x_{0}) = 1 \right)$$

From here we write

$$\begin{split} \left| b_{n}(\mathbf{x}_{0}) \right| &\leq \sum_{i=1}^{n} W_{ni}(\mathbf{x}_{0}) L \left| \mathbf{x}_{i} - \mathbf{x}_{0} \right| \qquad \left( w \in L_{i} \text{ psd}: t_{2}(L) \text{ on } (o_{i}) \right) \\ K \text{ supported on } [-i, i] \left| = \sum_{i=1}^{n} W_{ni}(\mathbf{x}_{0}) L \left| \mathbf{x}_{i} - \mathbf{x}_{0} \right| \mathcal{I} \left( |\mathbf{x}_{i} - \mathbf{x}_{0}| \leq h \right) \\ &\leq \sum_{i=1}^{n} W_{ni}(\mathbf{x}_{0}) L \cdot h \\ &= h \cdot L . \qquad \Box \boxed{Y} \end{split}$$

Excercise: Find optimil bandwidth and then optimil MSE bound for 
$$\hat{m}_{n}^{NU}(x_{0})$$
.  
 $\frac{O}{Oh}$  (bound on MSE  $\hat{m}_{n}^{NU}(x_{0})$ ) =  $2h \cdot L^{2} - \frac{\sigma^{2}}{nh^{2}} \frac{K_{inst}}{f_{min}} = 0$   
 $(=)$   
 $h = n^{-\frac{1}{3}} \left(\frac{\sigma^{2}}{L^{2}} \cdot \frac{K_{max}}{2 \cdot f_{min}}\right)^{\frac{1}{3}} = :h_{opt}.$ 

Under this choice of h, we have

$$MSE \int_{m_{n}}^{MNW}(x_{0}) \leq \left[ n^{-\frac{1}{3}} \left( \frac{\sigma^{2}}{L^{2}} \cdot \frac{K_{max}}{2 \cdot f_{min}} \right)^{\frac{1}{3}} \right]^{2} \cdot L^{2} + \frac{\sigma^{2}}{n} \frac{K_{max}}{f_{min}} n^{\frac{1}{3}} \left( \frac{L^{2}}{\sigma^{2}} \cdot \frac{2 \cdot f_{min}}{\sigma^{2} \cdot K_{max}} \right)^{\frac{1}{3}}$$

$$= n^{-\frac{2}{3}} L^{\frac{2}{3}} \left\{ \left( \frac{\sigma^{2}}{L} \frac{K_{max}}{2 \cdot f_{min}} \right)^{\frac{2}{3}} + \left( \frac{\sigma^{2}}{2} \frac{K_{max}}{f_{min}} \right)^{\frac{2}{3}} \right\}.$$

$$We \quad \text{summarize} \quad \text{the abuse} \quad \text{by} \quad \text{giving a uniform result:}$$

$$\frac{\text{Peruft}: \text{Under} (K1) \text{ and } (D1), \text{ with } h = \alpha n^{-\frac{1}{3}} \text{ for some } a^{\frac{1}{3}} \text{, we have}$$

sup 
$$\operatorname{E}\left[\hat{m}_{n}^{NW}(x)-m(x)\right]^{2} \leq n^{2}/3$$
  
 $m \in \operatorname{Lipschitz}(L) \cdot n [0,1] \quad x \in [0,1]$ 

What would the MSE bound be in parametric regression?  
Let 
$$m_n^{\text{Lin}}(x)$$
 be the extinctor given by  
 $\prod_{m=1}^{n} (x) = \hat{\beta}_0 + \hat{\beta}_1 x$ ,  $(\hat{\beta}_0, \hat{\beta}_1) = \arg_{\text{Lin}} \sum_{\substack{n \in I \\ p_0, \beta_1 \in \mathbb{R}}} \sum_{i=1}^{n} \left[ Y_i - (\beta_0 + \beta_1 X_i) \right]^2$ 
[5]

and define the class of linear functions on an interval TCIR as  $Lin(T) = \{m: T \rightarrow R : m(x) = ax + b, a, b \in IR \}.$ 

We will make the following assumption:

 $(D1 \lim) \text{ Let } X_{1,...,} X_{n} \in [0,1] \text{ be deterministic such that for some } n_{0} \ge 0$   $\frac{1}{n} \sum_{i=1}^{n} (X_{i} - \overline{X}_{n})^{2} \ge 5_{\min} \ge 0$ for all  $n \ge n_{0}$ .

Result: Under (D1lin), for 
$$n \ge n_0$$
, we have  
 $\sup_{m \in Lin([0,1])} \sup_{x \in [0,1]} \mathbb{E} \left[ \sum_{m=n}^{ALin} (x_0) - m(x_0) \right]^2 \le n^{-1} \left[ 1 + \frac{1}{S_{min}} \right] \sigma^2$ .

<u>Proof</u>: For every  $x_0 \in [0,1]$ ,  $m_n^{\text{Lin}}(x_0)$  is <u>unbiased</u>, since  $\mathbb{E} \, m_n^{\text{Lin}}(x_0) = \beta_0 + \beta_1 x_0 = m(x_0)$ .

Next, we have

$$V_{\text{ar}} \stackrel{\Lambda^{\text{bin}}}{m_n}(x_0) = V_{\text{er}}\left(\frac{\Lambda}{\beta_0} + \hat{\beta}_1, x_0\right)$$

$$= \left[\frac{1}{n} + \frac{\left(x_0 - \overline{x}_n\right)^2}{\sum\limits_{i=1}^n \left(x_i - \overline{x}_n\right)^2}\right] \sigma^2 \qquad (\text{She my STAT 513 ndes})$$

$$= \frac{1}{n} \left[1 + \frac{\left(x_0 - \overline{x}_n\right)^2}{\frac{1}{n} \sum\limits_{i=1}^n \left(x_i - \overline{x}_n\right)^2}\right] \sigma^2$$
[6]

$$\leq \frac{1}{n} \left[ 1 + \frac{1}{S_{\min}} \right] \sigma^{2}. \qquad \left( (D1 lin) \text{ and } (x_{0} - \overline{x}_{n}) \leq 1 \right)$$

Summery: The MSE of the parametric estimator is smaller than that of the non parametric estimator. But parametric models might be misspecified (this is what motivates non parametric statistics).

Confidence Interval for 
$$m(x_0)$$
 at  $x_0 \in [0,1]$ :

To construct a C.T. for 
$$m(x_0)$$
 it some  $x_0 \in [o_1, i]$ , we would like  
a result like  
 $\binom{ANW}{m_n}(x_0) - m(x_0)}{v_n(x_0)} \longrightarrow N(o_1)$  in dist. is  $n \to \infty$   
for some sequence  $v_n(x_0)$ . We will break this into two picces.  
 $\binom{ANW}{m_n}(x_0) - m(x_0)}{v_n(x_0)} = \binom{ANW}{m_n}(x_0) - Emin(x_0)}{v_n(x_0)} + (Emin(x_0) - m(x_0))}{v_n(x_0)}$   
Asymptotically Normal? Vanishing bias term?  
Remarks: Note that for consistency ( $MSEmin(x_0) \to 0$ ) we need  $h \to 0$  and  $nh \to \infty$ .  
For the Normality part, we will need the following result:

Corollary to Lindeber CL.T.:  
For seq. of ind rus 
$$g_1, g_2, ..., with mean 0 and variance 1 and a seq. of
red numbers  $g_{1,g_2,...}$  that satisfy  

$$\max_{1 \le i \le n} |g_i| / \left[\sum_{j=1}^{n} g_j^2\right]^{1/2} \rightarrow 0 \quad \text{es} \quad n \Rightarrow 0,$$
We have$$

$$\frac{\tilde{z}_{i}}{\left[\sum_{j=1}^{2} \alpha_{j}^{2}\right]^{\frac{1}{2}}} \longrightarrow N(0,1) \text{ in distribution as } n \gg \infty.$$

$$\boxed{\left[\sum_{j=1}^{2} \alpha_{j}^{2}\right]^{\frac{1}{2}}}$$

We now present . theorem:

$$\frac{\text{Theorem:}}{\text{for all n \in \mathbb{R} and lat X_{1,...,X_{n}}} = \int_{\mathbb{R}} \int_{$$

$$\frac{\operatorname{Proof of } (1)}{\operatorname{More}}: \operatorname{Note} \operatorname{Hit} \operatorname{We} \operatorname{can} \operatorname{Write}$$

$$\operatorname{Mor}^{\operatorname{NW}}_{\operatorname{Mor}}(x_{0}) - \operatorname{Hom}^{\operatorname{NW}}(x_{0}) = \sum_{\substack{i=1\\i=1}^{n}}^{n} \operatorname{Wai}(\pi_{0}) Y_{i} - \sum_{\substack{i=1\\i=1}^{n}}^{n} \operatorname{Wai}(\pi_{0}) Y_{i} - \sum_{\substack{i=1\\i=1}^{n}}^{n} \operatorname{Wai}(\pi_{0}) F_{i} Y_{i}$$

$$= \sum_{\substack{i=1\\i=1}^{n}}^{n} \operatorname{Wai}(x_{0}) \varepsilon_{i},$$

where 
$$W_{ai}(x_{a}) = K\left(\frac{X_{i}-x_{o}}{h_{n}}\right) / \frac{r}{j^{z_{1}}} K\left(\frac{X_{j}-x_{o}}{h_{n}}\right).$$
  
By the Corollary to the Lindeberg C.F.T., it is suff. to show that  
max  $|W_{ni}(x_{o})| / \left[\sum_{j^{z_{1}}}^{n} W_{ni}^{2}(x_{o})\right]^{\frac{1}{2}} \longrightarrow 0$  as  $n \Rightarrow \infty$ .

$$\frac{We \quad here}{\substack{\max_{1 \leq i \leq n}} |W_{ni}(x_{0})|} = \frac{\max_{1 \leq i \leq n} K\left(\frac{X_{i}-x_{0}}{h_{n}}\right)}{\sum_{j \leq i} K\left(\frac{X_{j}-x_{0}}{h_{n}}\right)} / \left(\sum_{i \neq i} \frac{K\left(\frac{X_{i}-x_{0}}{h_{n}}\right)}{\left[\sum_{j \neq i} K\left(\frac{X_{j}-x_{0}}{h_{n}}\right)\right]^{2}}\right)^{1/2}$$

$$= \frac{\max_{j \leq i \leq n}}{\left[\sum_{j \neq i} K\left(\frac{X_{i}-x_{0}}{h_{n}}\right)\right]^{1/2}}$$

$$= \frac{\max_{i \leq i \leq n} K\left(\frac{X_{i}-x_{0}}{h_{n}}\right)}{\left[\sum_{j \neq i} K^{2}\left(\frac{X_{j}-x_{0}}{h_{n}}\right)\right]^{1/2}}$$

$$\leq \frac{K_{mer}}{\left[\min_{n \neq i} \sum_{j \leq i} K^{2}\left(\frac{X_{i}-x_{0}}{h_{n}}\right)\right]^{1/2}}$$

$$= \frac{K_{mer}}{K_{mer}}$$

by (\$) and because nhn - 00.

$$\frac{\operatorname{Proof} \, \operatorname{st} (2)}{|\mathbb{E} n^{NW}(x_0) - m(x_0)|} \leq h_n \cdot L \cdot \left( \operatorname{previous vorb} \right)$$

Also, for all  $n \ge n_0$  we have  $\frac{1}{\left[\sum_{i=1}^{n} W_{ni}^{-2}(x_0)\right]^{\frac{1}{2}}} = \frac{\sum_{i=1}^{n} K\left(\frac{X_i - x_0}{h}\right)}{\left[\sum_{j=1}^{n} K^2\left(\frac{X_j - x_0}{h}\right)\right]^{\frac{1}{2}}} = \sqrt{nh_n} \frac{\frac{1}{nh_n} \sum_{i=1}^{n} K\left(\frac{X_i - x_0}{h}\right)}{\left[\frac{1}{nh_n} \sum_{j=1}^{n} K^2\left(\frac{X_j - x_0}{h}\right)\right]^{\frac{1}{2}}} = \sqrt{nh_n} \frac{\frac{1}{nh_n} \sum_{i=1}^{n} K\left(\frac{X_i - x_0}{h}\right)}{\left[\frac{1}{nh_n} \sum_{j=1}^{n} K^2\left(\frac{X_j - x_0}{h}\right)\right]^{\frac{1}{2}}}$  hy (2). Combining then bounds, we obtain (2).

$$\frac{\text{(orollary: Under the conditions of the Theorem, we have
$$\frac{\left[\frac{\Lambda}{m_n}^{NW}(x_0) - m(x_0)\right]}{\sigma \left[\frac{\Gamma}{c^2} W_{ni}^2(x_0)\right]^{\frac{1}{2}}} \rightarrow N(0,1) \text{ in dist. as } n \rightarrow \infty$$
provided  $n^{\frac{1}{2}} h_n^{\frac{3}{2}} \rightarrow 0.$$$

Exercise: Determine whether we can build a valid C.I. for 
$$m(200)$$
  
under the MSE - optimel choice of  $h_n$ .  
Solution: The MSE-optimel choice of  $h_n$  is  $h_n = \alpha n^{-\frac{1}{3}}$  for some area.  
Under this choice,  $n^{\frac{1}{2}}h_n^{-\frac{3}{2}} = n^{\frac{1}{2}}(n^{-\frac{1}{3}})^{\frac{3}{2}} = 1$ , so the bias does not vanish.

Edination 52:

Let  $(X_{(1)}, Y_{(1)}), ..., (X_{(n)}, Y_{(n)})$  represent the data reordered such that  $X_{(1)} \in X_{(2)} \in ... \in X_{(n)}$ .

Consider the variance estimator:

<u>Result</u>: If  $X_{1,...,}X_{n} \in [0,1]$ ,  $\mathbb{E} \Sigma_{1}^{4} = \mu_{4} \leftarrow \mathcal{O}$ ,  $m \in L:psch:t_{2}(L)$  on [0,1], then  $\widehat{\sigma}_{n}^{2} \rightarrow \overline{\sigma}^{2}$  in probability as  $n \rightarrow \mathcal{O}$ . Proof: We have

$$\begin{split} \hat{\sigma}_{n}^{2} &= \underbrace{1}_{2(n-i)} \underbrace{\sum_{i=1}^{n-1} \left[ \left( m(X_{(i+i)}) + \mathcal{E}_{(i+i)} \right) - \left( m(X_{(i)}) + \mathcal{E}_{(i)} \right) \right]^{2} \\ &= \underbrace{1}_{2(n-i)} \underbrace{\sum_{i=1}^{n-i} \left( \mathcal{E}_{(i+i)} - \mathcal{E}_{(i)} \right)^{2}}_{2(n-i)} + \underbrace{1}_{2(n-i)} \underbrace{\sum_{i=1}^{n-i} \left[ m(X_{(i+i)}) - m(X_{(i)}) \right]^{2} }_{2(n-i)} \\ &+ \underbrace{2 \cdot \underbrace{1}_{2(n-i)} \underbrace{\sum_{i=1}^{n-i} \left( \mathcal{E}_{(i+i)} - \mathcal{E}_{(i)} \right) \left[ m(X_{(i+i)}) - m(X_{(i)}) \right]}_{2(n-i)} . \end{split}$$

The first term has expectation  $\sigma^2$  and the third term has expectation  $O_0$ The second term satisfies

$$\frac{1}{2(n-i)} \sum_{i=1}^{n-i} \left[ m(X_{(i+i)}) - m(X_{(i)}) \right]^2 \leq \frac{1}{2(n-i)} \sum_{i=1}^{n-i} L^2 \cdot (X_{(i+i)} - X_{(i)})^2 \quad (m \in L_i \text{ pshite}(L))$$

$$\leq \frac{L^2}{2(n-i)} \cdot (X_{1,...,X_n} \in L_{0,1})$$

 $\mathbb{E} \, \sigma_n^2 - \sigma^2 \longrightarrow 0 \quad \text{as} \quad n \twoheadrightarrow \sigma.$ Therefore

Moreover

$$V_{n} = \int_{0}^{2} \int_{0}^{2} \int_{0}^{2} \int_{0}^{n-1} V_{nr} \left( \left( Y_{(i+1)} - Y_{(i_{j})}^{2} \right)^{2} \right) + \sum_{\substack{|i-j|=1}}^{2} \int_{0}^{2} \int_{0}^{2} \left( \left( Y_{(i+1)} - Y_{(i_{j})}^{2} \right)^{2} \right) \left( Y_{(i+1)} - Y_{(i_{j})}^{2} \right)^{2} \right) \right) \\ \leq \int_{0}^{1} \int_{0}^{n-1} V_{nr} \left( \left( Y_{(i+1)} - Y_{(i_{j})}^{2} \right)^{2} \right) + \sum_{\substack{|i-j|=1}}^{2} \int_{0}^{1} V_{nr} \left( \left( Y_{(i+1)} - Y_{(i_{j})}^{2} \right) \right) \left( Y_{nr} \left( \left( Y_{(i+1)} - Y_{(i_{j})}^{2} \right)^{2} \right) \right) \right) \right) \\ \leq \int_{0}^{1} \int_{0}^{1} \int_{0}^{1} \int_{0}^{1} \left( Y_{(i+1)} - Y_{(i_{j})}^{2} \right) \left[ 2 \int_{0}^{1} \int_{0}^{1} \left( Y_{(i+1)} - Y_{(i_{j})}^{2} \right) \left( Y_{nr} \left( Y_{(i+1)} - Y_{(i_{j})}^{2} \right)^{2} \right) \right] \\ \leq \int_{0}^{1} \int_{0}^{1} \int_{0}^{1} \left[ 2 \int_{0}^{1} \left( 2 \int_{0}^{1} y_{nr} + \left( 6 \int_{0}^{1} y_{nr} + \left( 16 \int_{0}^{1} y_{nr}^{2} \right)^{2} \right) \right]$$

$$- > 0 \quad \text{as} \quad n \rightarrow \infty \quad \text{Ver} \left( \left( Y_{(i+1)} - Y_{(i)} \right)^2 \right) \quad \forall i.$$

Since the biss and variance go to Zero, we have consistency. 

Corollog: Under the conditions of the theorem and 
$$\text{FEE}_{1}^{4} < \infty$$
,  
 $P\left(\begin{array}{c} m(x_{0}) \in \left( \prod_{n=1}^{N^{1/0}} (x_{0}) \pm \frac{2}{2} \alpha_{n}^{2} \prod_{i=1}^{n} M_{ni}^{2} (x_{0}) \right) \right) \longrightarrow 1-\alpha$ 
  
as  $n \Rightarrow \infty$ , provided  $n = \frac{1}{2} \frac{3}{2}$ .

## Local-Polynomial Estimators

We now introduce a generalization of the N-W estimator and consider its performance over  $m \in \mathcal{H}(\mathcal{B}, \mathcal{L})$  on  $\mathcal{L}(\mathcal{D}, \mathcal{I})$ . This estimator fits a polynomial function to the data locally. We have in mind, for X clase to  $X_0$ , the approximation

$$m(x) \approx a_0 + a_1(x-x_0) + \dots + a_g(x-x_0)$$
  
 $\mu(x) \approx \mu_1(x-x_0) + \dots + \mu_g(x-x_0)$ 

for some coefficients 90, 91,..., 92.

We thus define  $m_n^{LP}(x)$  as the first element of the vector

$$\begin{pmatrix} \hat{a}_{0}, \hat{a}_{1}, \dots, \hat{a}_{p} \end{pmatrix} (x) = \underset{\substack{a_{0}, a_{1}, \dots, a_{p} \in IR}}{\operatorname{agamin}} \sum_{i=1}^{n} \left[ Y_{i} - \left( a_{0} + a_{1} (X_{i} - x) + \dots + a_{p} (X_{i} - x)^{p} \right) \right]^{2} K \left( \frac{X_{i} - x}{h} \right),$$

That is, we fit a local order - 
$$L$$
 polynomial approximation  
 $\hat{\alpha}_0(x) + \hat{\alpha}_1(x)(\cdot - x) + \dots + \hat{\alpha}_p(x) (\cdot - x)^L$   
to the function m at  $x$  and evaluate it at  $x$ , obtaining  $\hat{m}_n^{LP}(x) = \hat{\alpha}_0 \cdot \int L^2$ 

Exercise: (i) Find instrices 
$$U_X$$
 and  $K_X$  and the vector  $\tilde{J}_n$  such that  
 $\hat{q}_n(x) := (\hat{q}_0, \hat{q}_1, ..., \hat{q}_q)(x) = (U_X^T | K_X U_X)^T | U_X^T | K_X \tilde{J}$   
(ii) Show that we may write  
 $\hat{M}_n^{LP}(x) = \sum_{i=1}^n W_{ni}^{+}(x) \tilde{J}_i$ 

w:th

$$W_{a_i}^{\dagger}(x) = \frac{1}{nh} e_2^{\intercal} \left( \frac{1}{nh} U_x^{\intercal} K_x U_x \right)^{\dagger} U_{x_i} \cdot K\left(\frac{X_i - x}{h}\right).$$

Solution: Let

$$U_{x} = \begin{bmatrix} 1 & \cdots & (X_{1}-x) & \cdots & \frac{1}{2} & (X_{1}-x)^{2} & \cdots & \frac{1}{2} & (X_{1}-x)^{2} \\ \vdots & \vdots & \vdots & \vdots \\ 1 & \cdots & (X_{n}-x) & \cdots & \frac{1}{2} & (X_{n}-x)^{2} & \cdots & \frac{1}{2} & (X_{n}-x)^{2} \end{bmatrix}$$

$$K_{x} = dis_{y}\left(K\left(\frac{X_{1}-x}{h}\right), \dots, K\left(\frac{X_{n}-x}{h}\right)\right).$$

We present a result from Tsybakov's back, which depends on these assumptions:  
(LP2) There exists a 
$$\lambda_0 = 0$$
 and  $N_0 = 0$  such that  
 $\lambda_{\min} \left( \frac{1}{n!} \bigcup_{X}^{T} K_X \bigcup_{X} \right) \ge \lambda_0 = 0$  for all  $N \ge N_0$ .  
[Points  $\chi_{1,...,} \chi_n$  distributed and that no interval in  $[0, \overline{1}]$  at us empty.]  
(LP2) There exists a  $a_0 \ge 0$  such that for every  $A \in [0, \overline{1}]$ ,  
 $\frac{1}{n} \bigcup_{i=1}^{T} \mathbb{1} \left( \chi_i \in A \right) \le a_0 \left( Leb(A) \lor \frac{1}{n} \right)$ .  
[Points  $\chi_{1,...,} \chi_n$  not too concentrated in any one small interval]  
(LP3) K with support on  $[-1, \overline{1}]$  and  $0 \le K(n) \le K_{max} \le 0 \lor n \in R^2$ .

Theorem 2: Let 
$$X_{1,...,}$$
  $X_{n}$  be deterministic such that (LP1), (LP2), and (LP3) hold  
under  $h = \alpha \ln^{-1/(2\rho+1)}$ . Let  $m \in \mathcal{H}(\beta, L)$  on  $[\alpha_{1}\overline{i}]$ . Then  
 $\mathcal{S}_{0}\rho$   $\mathfrak{s}_{0}\rho$   $\mathbb{E}\left[\int_{m_{n}}^{nLP}(x) - m(x)\right]^{2} \leq n^{-\frac{2\beta}{2\beta+1}} \cdot C$   
 $m \in \mathcal{H}(\beta, L)$   $x \in [\alpha_{1}\overline{i}]$   
for all  $n \geq n_{0}$ , when  $m_{n}^{LP}(x)$  is of order  $l = \beta - 1$ . The constant  
 $C$  depends only on  $\beta, L, \lambda_{0}, \beta_{0}, K_{max}, \sigma^{2}$ , and  $\alpha$ .

囲

## MSE of N-W estimater under bounded 2rd dur: vative

Theorem 3: Let 
$$X_{1,...,} X_n$$
 have a continuous, differentiable density  $f$ ,  $f(x) > 0$ ,  
and  $Suppose in  $i$  is continuous and bounded. Then it  
 $h_n \rightarrow 0$  and  $hh_n \rightarrow P$ , we have$ 

Biss 
$$\prod_{n=1}^{NW}(x) = \frac{h^2}{2} \left( \prod_{n=1}^{n} (x) + 2 \prod_{n=1}^{n} (x) f(x) \right) \int_{R^2} \int_{R$$

while Ver 
$$m_n^{NW}(x)$$
 and  $V_{er} \tilde{m}_n^{LP,2}(x)$  are given by  
 $\frac{1}{nh} \frac{\sigma^2}{f(x)} \int_{R} k^2(n) dn + op((nh)^{-1})$ 

The proof of this result is more combersome then that of our result under Lipschitz amosthness, but it offers some insights.

The optimal rate is 
$$O(n^{-\frac{1}{5}})$$
 under these settings (better then  
under Lipschitz symmetheses, due to existence of 2 derivations).

$$\begin{aligned} F_{0}r & Y_{1} = m(X_{1}) + E_{1}, \quad i \geq 1, ..., n, \quad E_{1,1}..., E_{n}, \quad i^{id} \quad \text{wth } \mathbb{E}E_{1} = c, \quad \mathbb{E}E_{1}^{2} = \sigma^{2}, \quad \mathbb{E}E_{1}^{4} = p_{1}q \leq \sigma \\ \text{and} & m \in \text{Lippeditie}(L) \quad \text{on } [\sigma_{1}, i], \quad X_{1,1}..., X_{n} \in [\sigma_{0}, i] \quad \text{us have} \\ \\ \mathbb{V}_{nr}\left(\left(Y_{(r+1)} - Y_{(r)}\right)^{2}\right) = \mathbb{V}_{nr}\left[\left(m(X_{(r+1)}) - m(X_{(r)}) + \varepsilon_{1}(i+1) - \varepsilon_{1}(i)\right)^{2}\right] \\ &= \mathbb{V}_{nr}\left[\left(m(X_{(r+1)}) - m(X_{(r)})\right)^{2} + \left(E_{(r+1)} - E_{(r)}\right)^{2} + 2\left(E_{(r+1)} - E_{(r)}\right)^{2}\right] \\ &= \mathbb{V}_{nr}\left[\left(m(X_{(r+1)}) - m(X_{(r)})\right)^{2} + 2\left(E_{(r+1)} - E_{(r)}\right)\left(m(X_{(r+1)}) - m(X_{(r)})\right)\right] \\ &= \mathbb{V}_{nr}\left[\left(E_{1}(i+1) - \varepsilon_{1}(i)\right)^{2} + 2\left(E_{1}(i+1) - \varepsilon_{1}(i)\right)\left(m(X_{(r+1)}) - m(X_{(r)})\right)\right] \\ &= \mathbb{V}_{nr}\left[\left(E_{1}(i+1) - \varepsilon_{1}(i)\right)^{2}\right] + 2\mathbb{V}_{nr}\left[2\left(E_{1}(i+1) - \varepsilon_{1}(i)\right)\left(m(X_{(r+1)}) - m(X_{(r)})\right)\right] \\ &\leq 2 \mathbb{V}_{nr}\left[\left(E_{1}(i+1) - \varepsilon_{1}(i)\right)^{2}\right] + 2\mathbb{V}_{nr}\left[2\left(E_{1}(i+1) - \varepsilon_{1}(i)\right)\left(m(X_{(r+1)}) - m(X_{(r)})\right)\right] \\ &\leq 2 \mathbb{E}\left[\left(E_{1}(i+1) - \varepsilon_{1}(i)\right)^{2}\right] + 9 \mathbb{E}\left[\left(E_{1}(i+1) - \varepsilon_{1}(i)\right)^{2}\right] + \left(X_{(r+1)} - \varepsilon_{1}(i)\right)^{2}\right] \\ &\leq 2 \left(2 \mathbb{E}\left[\left(E_{1}(i+1) - \varepsilon_{1}(i)\right)^{2}\right] + 1/6 \sigma^{2}L^{2}, \qquad (X_{1}(i+1), X_{nr} \in [\sigma_{1}(i])\right)^{2} \\ &\leq 2 \left(2 \mathbb{E}\left[X_{nr} + \varepsilon_{nr}^{4}\right) + 1/6 \sigma^{2}L^{2}, \qquad (X_{1}(i+1), X_{nr} \in [\sigma_{1}(i])\right)^{2} \end{aligned}$$

$$\mathbb{E} \left( \mathcal{E}_{(i+1)} - \mathcal{E}_{(i)} \right)^{4} = \mathbb{E} \left[ \mathcal{E}_{(i+1)}^{4} - 4 \mathcal{E}_{(i+1)}^{3} \mathcal{E}_{(i)} + 6 \mathcal{E}_{(i+1)}^{2} \mathcal{E}_{(i)}^{2} - 4 \mathcal{E}_{(i+1)} \mathcal{E}_{(i)}^{3} + \mathcal{E}_{(i)}^{4} \right]$$

$$= \mu_{4} + 6 \sigma^{2} \cdot \sigma^{2} + \mu_{4}$$

$$= 2 \mu_{4} + 6 \sigma^{4}.$$